

Какая ваша работоспособность
	14
	9
	2
	21
	13

	22
	7
	16
	5
	10

	4
	25
	11
	18
	3

	20
	6
	23
	8
	19

	15
	24
	1
	17
	12


	2
	13
	1
	8
	20

	17
	6
	25
	7
	11

	22
	18
	3
	15
	19

	10
	5
	12
	24
	16

	14
	23
	4
	9
	21


	21
	11
	1
	19
	24

	2
	20
	18
	5
	10

	4
	13
	25
	16
	7

	17
	6
	14
	9
	12

	22
	3
	8
	15
	23


	5
	21
	23
	4
	25

	11
	2
	7
	13
	20

	24
	17
	19
	6
	18

	9
	1
	12
	8
	14

	16
	10
	3
	15
	22


	3
	17
	21
	8
	4

	10
	6
	15
	25
	13

	24
	20
	1
	9
	22

	19
	12
	7
	14
	16

	2
	18
	23
	11
	15


ЭР (эффективность работы) = (Т1 + Т2 + Т3 + Т4 + Т5) / 5

	Возраст (лет)
	5 баллов
	4 балла
	3 балла
	2 балла
	1 балл

	10
	45 и меньше
	46-55
	56-65
	66-75
	76 и больше

	11
	35 и меньше
	36-45
	46-55
	56-65
	66 и больше

	12
	30 и меньше
	31-35
	36-45
	46-55
	56 и больше


